Contents lists available at ScienceDirect



Journal of Mathematical Analysis and Applications

www.elsevier.com/locate/jmaa

# Regularity criterion to the axially symmetric Navier–Stokes equations



CrossMark

霐

## Dongyi Wei

School of Math Sciences and BICMR, Peking University, Beijing, 100871, People's Republic of China

#### ARTICLE INFO

Article history: Received 11 August 2015 Available online 23 October 2015 Submitted by D.M. Ambrose

Keywords: Axially symmetric Navier–Stokes equations Regularity criterion

#### ABSTRACT

Smooth solutions to the axially symmetric Navier–Stokes equations obey the following maximum principle:  $||ru_{\theta}(r, z, t)||_{L^{\infty}} \leq ||ru_{\theta}(r, z, 0)||_{L^{\infty}}$ . We first prove the global regularity of solutions if  $||ru_{\theta}(r, z, 0)||_{L^{\infty}}$  or  $||ru_{\theta}(r, z, t)||_{L^{\infty}(r \leq r_0)}$  is small compared with certain dimensionless quantity of the initial data. This result improves the one in Zhen Lei and Qi S. Zhang [10]. As a corollary, we also prove the global regularity under the assumption that  $|ru_{\theta}(r, z, t)| \leq |\ln r|^{-3/2}$ ,  $\forall 0 < r \leq \delta_0 \in (0, 1/2)$ .

@ 2015 Elsevier Inc. All rights reserved.

### 1. Introduction

In the cylindrical coordinate system with  $(x_1, x_2, x_3) = (r \cos \theta, r \sin \theta, z)$ , an axially symmetric solution of the Navier–Stokes equations is a solution of the following form

$$u(x,t) = u_r(r,z,t)e_r + u_\theta(r,z,t)e_\theta + u_z(r,z,t)e_z, \ p(x,t) = p(r,z,t),$$

where

$$e_r = \left(\frac{x_1}{r}, \frac{x_2}{r}, 0\right), \ e_\theta = \left(-\frac{x_2}{r}, \frac{x_1}{r}, 0\right), \ e_z = (0, 0, 1).$$

In terms of  $(u_r, u_\theta, u_z, p)$ , the axially symmetric Navier–Stokes equations are as follows

 $\label{eq:http://dx.doi.org/10.1016/j.jmaa.2015.09.088} 0022\text{-}247X/ © 2015$  Elsevier Inc. All rights reserved.

E-mail address: jnwdyi@163.com.

D. Wei / J. Math. Anal. Appl. 435 (2016) 402-413

$$\begin{cases}
\partial_t u_r + u \cdot \nabla u_r - \Delta u_r + \frac{u_r}{r^2} - \frac{u_\theta^2}{r} + \partial_r p = 0, \\
\partial_t u_\theta + u \cdot \nabla u_\theta - \Delta u_\theta + \frac{u_\theta}{r^2} + \frac{u_r u_\theta}{r} = 0, \\
\partial_t u_z + u \cdot \nabla u_z - \Delta u_z + \partial_z p = 0, \\
\langle \partial_r (ru_r) + \partial_z (ru_z) = 0.
\end{cases}$$
(1.1)

It is well-known that finite energy smooth solutions of the Navier–Stokes equations satisfy the following energy identity

$$\|u(t)\|_{L^2}^2 + 2\int_0^t \|\nabla u(s)\|_{L^2}^2 \mathrm{d}s = \|u_0\|_{L^2}^2 < +\infty.$$
(1.2)

Denote  $\Gamma = ru_{\theta}$ . One can easily check that

$$\partial_t \Gamma + u \cdot \nabla \Gamma - \Delta \Gamma + \frac{2}{r} \partial_r \Gamma = 0.$$
(1.3)

A significant consequence of (1.3) is that smooth solutions of the axially symmetric Navier–Stokes equations satisfy the following maximum principle (see, for instance, [1,3])

$$\|\Gamma\|_{L^{\infty}} \le \|\Gamma_0\|_{L^{\infty}}.\tag{1.4}$$

We can compute the vorticity

$$\omega = \nabla \times u = \omega_r e_r + \omega_\theta e_\theta + \omega_z e_z,$$

where

$$\omega_r = -\partial_z(u_\theta), \ \omega_\theta = \partial_z(u_r) - \partial_r(u_z), \ \omega_z = \frac{1}{r}\partial_r(ru_\theta)$$

Denote

$$\Omega = \frac{\omega_{\theta}}{r}, \ J = \frac{\omega_r}{r} = -\frac{\partial_z u_{\theta}}{r},$$

then

$$\begin{cases} \partial_t \Omega + u \cdot \nabla \Omega - \left( \triangle + \frac{2}{r} \partial_r \right) \Omega + 2 \frac{u_\theta}{r} J = 0, \\ \partial_t J + u \cdot \nabla J - \left( \triangle + \frac{2}{r} \partial_r \right) J - \left( \omega_r \partial_r + \omega_z \partial_z \right) \frac{u_r}{r} = 0. \end{cases}$$
(1.5)

We emphasize that J was introduced by Chen–Fang–Zhang in [2], while  $\Omega$  appeared much earlier and can be at least tracked back to the book of Majda–Bertozzi in [12]. Both of the two new variables are of great importance in our work.

Our goal is to prove that the smallness of  $\|\Gamma\|_{L^{\infty}(r \leq r_0)}$  or  $\|\Gamma_0\|_{L^{\infty}}$  implies the global regularity of the solutions. Here is our result.

**Theorem 1.1.** Let  $r_0 > 0$ . Suppose that  $u_0 \in H^2$  such that  $\Gamma_0 \in L^{\infty}$ . Denote

$$M_1 = (1 + \|\Gamma_0\|_{L^{\infty}}) \|u_0\|_{L^2}$$
 and  $M_0 = (\|J_0\|_{L^2} + \|\Omega_0\|_{L^2}) M_1^3$ .

Download English Version:

# https://daneshyari.com/en/article/4614597

Download Persian Version:

https://daneshyari.com/article/4614597

Daneshyari.com